Steele Run # 5 API # 47-085-80619 DEP16311

Bid Schedule - Revised

Company Name:

R. L. Wharton Enterprises, LTD.

Address:

261 Shiloh Lane

Buckhannon, WV 26201

Contractor's Licence: WV052554

The WVDEP reserves the right to request additional information and supporting documentation regarding unit prices when the unit price appears to be unreasonable.

Item no:	Qty.	Description	Unit	Unit Price	Amoun
1.	160	Rig and 3 man crew	HR	\$225	36,000
2.a.	80	Tandem truck w/winch	HR	\$ 85	6,800
2.b.	50	Flatbed w/winch (single axle)	HR	\$ 75	3,750
2.c.	100	Tractor and trailer w/winch	HR	\$ 90	9,000
2.d.	60	Tractor and trailer (without winch)	HR	\$ 60	3,600
2.e.	1 00	Oil field equipped vacuum water truck	HR	\$ 100	10,000
2.g.	95	Pickup	HR	\$ 55	5,225
3.	100	Medium dozer: cat d6c equivalent or larger:	HR	\$85	8,500
4.	100	Excavator (sk1601c) or equivalent	HR	\$90	9,000
5.	140	Power swivel 25 ton or equivalent	HR	\$30	4,200
6.	140	Mud pump 4 x 6 or equivalent	HR	\$35	4,900
7.a.	12	Power tongs 4 1/2" or smaller:	HR	\$20	240
7.b.	J	Power tongs over 4 1/2" up to 8 5/8":	HR	\$ 1.00	1.00
8.a.	1	Pipe cut per cut 4 1/2- 8 5/8	HR	\$1200	1,200
8.b.	1	Pipe cut per cut 2 3/8-3 1/2	HR	\$1.00	1.00
9.	1	Down hole camera	HR	\$200	200
10.a.	20	24" conductor casing	EA	\$20	400
10.b.	20	53/16 pipe used casing	EA	2	40
11.	410	1 I/2" tubing rental	FT	\$0.20	82
12.	90	Trash pump	HR	\$10	900
13.	4	Office trailer/doghouse	WK	\$175	700
14.	1	I 00 barrel water tank	EA	\$100	100
			S	UBTOTAL	104,839

Item no:	Qty.	Description	Unit	Unit Price	Amount
15.	I	Oil tank disposal	EA	\$1.00	1.00
16.	100	Disposal of gel	BBL	\$ 25	2,500
17.	70	Disposal of salt water	BBL	\$3.50	245
18.	50	Disposal of drill cuttings	T	\$60	3,000
19.	40	Aqua gel	EA	\$24	960
20.	225	Cement	EA	\$16	3,600
21.	300	Gravel	Т	\$28	8,400
22.	40	12 inch culverts	FT	\$ 6.50	260
23.	-	Steel mud pit	EA	\$200	200
24.	1	Pit liner	EA	\$200	200
25.	150	Lime	EA	\$5.00	750
26.	15	Feterilizer	EA	\$12.00	180
27.	J00	Seed	LB	\$2.00	200
28.	75	Mulch: Hay	EA	\$4.00	300
29.	100	Brush / roustabout crew	HR	\$130	13,000
30.	160	Additional labor	HR	\$60	9,600
31.	100	Silt fence per foot	FT	\$.0.50	50
32.		Monument	EA	\$100	100
33.	5	Portable toilet	WK	\$1.00	5
34.	400	Drill pipe	FT	\$0.35	140
35.	3	DriJI collars	EA	\$700	2100
36.	4	Tooth drill bit	EA	\$500	2,000
37.	30	Welder / cutting torch	HR	\$60	1,800
38.	1	Rotating head	EA	\$1.00	1.00
39.	1	Blow out preventer	EA	\$150	150
40.a.	5	Absorbent booms	EA	60	300
40.b.	5	Absorbent pads	EA	60	300
40.c.	5	Peat sorb	EA	\$50	250
41.	16	Supervisor	DAY	\$1.00	16
42.	2	Subs and connections	EA	\$600	1200
43.	I	Various miJls per mill	EA	4375	4375
44.	1	Junk basket	EA	\$1.00	1
45.	1	Sand pump (4 -8 ")	EA	\$100	100
46.	1	Cherry picker (4"-8"):	EA	\$25	25
47.	and a	Three prong grab (4"-8"):	EA	\$25	25
48.	Ι	Tubing spear (I"-3 W'):	EA	\$30	30
			5	SUBTOTAL	56,364

Item no:	Qty.	Description	Unit	U	Amount
				n i	
49.	I	Casing spear (4"-8 5 8"):	EA	\$30	30
50.	1	Overshot (I"-3 W'):	EA	\$250	250
51.	I	Overshot (4" - 8 5/8"):	EA	\$300	300
52.	pease	Center spear (2" – 6"):	EA	\$50	50
53.	I	Impression block:	EA	\$25	25
54.		Magnet (3"-7"):	EA	\$2000	2000
55.	1	Mulcher	DAY	\$100	100
			SUBT	OTAL	2755
			Subtotal	Page I	104,839
			Subtotal	Page 2	56,364
					163,958

Bidders Authorized Signature: 4. 2014

Date: 4. 2014

ADDENDUM ACKNOWLEDGEMENT FORM SOLICITATION NO.: 01

Instructions: Please acknowledge receipt of all addenda issued with this solicitation by completing this addendum acknowledgment form. Check the box next to each addendum received and sign below. Failure to acknowledge addenda may result in bid disqualification.

Acknowledgment: I hereby acknowledge receipt of the following addenda and have made the necessary revisions to my proposal, plans and/or specification, etc.

Addendum Numbers Received:

(Check the box next to each addendum received)

[>	(]	Addendum No. 1	[]	Addendum No. 6
[]	Addendum No. 2	[]	Addendum No. 7
[]	Addendum No. 3	[]	Addendum No. 8
[]	Addendum No. 4	[]	Addendum No. 9
[]	Addendum No. 5	[]	Addendum No. 10

I understand that failure to confirm the receipt of addenda may be cause for rejection of this bid. I further understand that any verbal representation made or assumed to be made during any oral discussion held between Vendor's representatives and any state personnel is not binding. Only the information issued in writing and added to the specifications by an official addendum is binding.

Company

Company

Authorized Signature

8-36-2014

Date

NOTE: This addendum acknowledgement should be submitted with the bid to expedite document processing. Revised 6/8/2012



State of West Virginia DRUG FREE WORKPLACE CONFORMANCE AFFIDAVIT West Virginia Code §21-1D-5

STATE OF WEST VIRGINIA,					
COUNTY OF USING TO-WIT:					
I, LASAA. Whaton, after being first duly sworn, depose and state as follows:					
1. I am an employee of Robo Whatton Enterprises LTD; and, (Company Name)					
2. I do hereby attest that Robo Whaton Enterpres LTD (Company Name)					
maintains a valid written drug free workplace policy and that such policy is in compliance with West Virginia Code §21-1D.					
The above statements are sworn to under the penalty of perjury.					
By: A. a. Mos					
Company Name: R.L. Whaten Enterprises LT					
Date: 124 30, 3014					
Taken, subscribed and sworn to before me this 30 day of July , 2014.					
(Seal) Septimes Septimes 21 2016 ANGELA H. SURFACE SI JUSEPH'S HOSPITAL I ANALIA DRIVE. BUCKHANNON, WV 26201 My Commission Expires February 21, 2016					

THIS AFFIDAVIT MUST BE SUBMITTED WITH THE BID IN ORDER TO COMPLY WITH WV CODE PROVISIONS. FAILURE TO INCLUDE THE AFFIDAVIT WITH THE BID SHALL RESULT IN DISQUALIFICATION OF THE BID.

(Notary Public)

RFQ No. DEP16311

STATE OF WEST VIRGINIA Purchasing Division

PURCHASING AFFIDAVIT

MANDATE: Under W. Va. Code §5A-3-10a, no contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and: (1) the debt owed is an amount greater than one thousand dollars in the aggregate; or (2) the debtor is in employer default.

EXCEPTION: The prohibition listed above does not apply where a vendor has contested any tax administered pursuant to chapter eleven of the W. Va. Code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

DEFINITIONS:

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Employer default" means having an outstanding balance or liability to the old fund or to the uninsured employers' fund or being in policy default, as defined in W. Va. Code § 23-2c-2, failure to maintain mandatory workers' compensation coverage, or failure to fully meet its obligations as a workers' compensation self-insured employer. An employer is not in employer default if it has entered into a repayment agreement with the Insurance Commissioner and remains in compliance with the obligations under the repayment agreement.

"Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

AFFIRMATION: By signing this form, the vendor's authorized signer affirms and acknowledges under penalty of law for false swearing (W. Va. Code §61-5-3) that neither vendor nor any related party owe a debt as defined above and that neither vendor nor any related party are in employer default as defined above, unless the debt or employer default is permitted under the exception above.

Witness The Following Signature: Vendor's Name: R. L. W. M. Enterprises LTO Authorized Signature: M. Date: Duy 30, 2014 State of West Virginia County of Upshur, to-wit: Taken, subscribed, and sworn to before me this 30 day of July My Commission expires February 21, 2014 AFFIX SEAL HERE NOTARY PUBLIC Application of Management of



CERTIFICATION AND SIGNATURE PAGE

By signing below, I certify that I have reviewed this Solicitation in its entirety; understand the requirements, terms and conditions, and other information contained herein; that I am submitting this bid or proposal for review and consideration; that I am authorized by the bidder to execute this bid or any documents related thereto on bidder's behalf; that I am authorized to bind the bidder in a contractual relationship; and that to the best of my knowledge, the bidder has properly registered with any State agency that may require registration.

R.L. Which	ton Enterprises	LTD
(Company)	,	
(Authorized Signature))	
Lish A. Wha	cton, Resident	
(Representative Name, Title)		
304-412-2060	304-472-2660	
(Phone Number)	(Fax Number)	
4106-02-8		
(Date)	→ 100 mm (100 mm)	

Agoney	
Agency	555/00/
REQ.P.O#	DEP16311

BID BOND

KNOW ALL MEN BY THESE PR	ESENTS That we the	Lindersianed	R.L. Wharton Enterprises, LTD
KNOW ALL MEN BY THESE PR Buckhannon of	West Virgi	nia	Travelore Caqualtu
America _{of} Hartford	CT , a	corporation o	_, as Principal, and Travelers Casualty Surety Company of rganized and existing under the laws of the State of
Connecticut with its principal office in	n the City of Hart	ford	, as Surety, are held and firmly bound unto the State
of West Virginia, as Obligee, in the penal s	sum of 5% (of 	(\$\frac{163,958.00}{}\) for the payment of which,
well and truly to be made, we jointly and so	everally bind ourselves,	our heirs, adn	ninistrators, executors, successors and assigns.
The Condition of the above abli	action is such that wh	oroso the Driv	
			ncipal has submitted to the Purchasing Section of the de a part hereof, to enter into a contract in writing for
Project #: DEP16311	or proposar, attached r	iereto and mat	de a part hereor, to enter into a contract in writing for
Steele Run #5			
Plugging of Oil and Na	atural Gas W	əll	
NOW THEREFORE.			
(a) If said bid shall be reject (b) If said bid shall be acc		al shall enter i	nto a contract in accordance with the bid or proposal
attached hereto and shall furnish any other	er bonds and insurance	required by the	e bid or proposal, and shall in all other respects perform
the agreement created by the acceptance	of said bid, then this ob	ligation shall b	he null and void, otherwise this obligation shall remain in the Surety for any and all claims hereunder shall, in no
event, exceed the penal amount of this obl	igation as herein stated	I.	the curety for any and an claims hereunder shall, in no
The Surety for the value receive	d horoby etimulates ass	d ==== 4b = 4 4)	ha altinof
way impaired or affected by any extension	on of the time within wi	nich the Oblige	he obligations of said Surety and its bond shall be in no see may accept such bid, and said Surety does hereby
waive notice of any such extension.			,
WITNESS, the following signature	es and seals of Principa	al and Surety, e	executed and sealed by a proper officer of Principal and
Surety, or by Principal individually if Principal			
B			D. I. Wheeken Date
Principal Seal			R.L. Wharton Enterprises, LTD (Name of Principal)
			all A have
			(Must be President, Vice President, or
			Lisa Ann What Profit Agenner
			Vice President
			(Title)
			Travelers Casualty & Surety Company of America
Surety Seal			(Name of Surety)
			(Hamo of outery)
			Jebrah M. Meene
			Deborah K. Akeene Fact
IMPORTANT - Surety executing bonds	must be licensed in V	Vest Virginia t	o transact surety insurance, must affix its seal and

IMPORTANT – Surety executing bonds must be licensed in West Virginia to transact surety insurance, must affix its seal, and must attach a power of attorney with its seal affixed.



POWER OF ATTORNEY

Farmington Casualty Company
Fidelity and Guaranty Insurance Company
Fidelity and Guaranty Insurance Underwriters, Inc.
St. Paul Fire and Marine Insurance Company
St. Paul Guardian Insurance Company

St. Paul Mercury Insurance Company Travelers Casualty and Surety Company Travelers Casualty and Surety Company of America United States Fidelity and Guaranty Company

Attorney-In Fact No.

226664

Certificate No. 005492519

KNOW ALL MEN BY THESE PRESENTS: That Farmington Casualty Company, St. Paul Fire and Marine Insurance Company, St. Paul Guardian Insurance Company, St. Paul Mercury Insurance Company, Travelers Casualty and Surety Company, Travelers Casualty and Surety Company of America, and United States Fidelity and Guaranty Company are corporations duly organized under the laws of the State of Connecticut, that Fidelity and Guaranty Insurance Company is a corporation duly organized under the laws of the State of Iowa, and that Fidelity and Guaranty Insurance Underwriters, Inc., is a corporation duly organized under the laws of the State of Wisconsin (herein collectively called the "Companies"), and that the Companies do hereby make, constitute and appoint

Cindee J. Campbell, Deanna Armentrout, James W. Wallace, and Deborah K. Keene

of the City ofElkins each in their separate capacity i other writings obligatory in the contracts and executing or guar	nature thereof on behalf	of the Companies in the	ir business of guarantee	y and all bonds, reco	gnizances, conditionersons, guaranteeing	
IN WITNESS WHEREOF, the day ofMay	the Companies have caused, 2013	this instrument to be sig	ned and their corporate	seals to be hereto aff	ixed, this	16th
	Fidelity and Guarant	y Insurance Company y Insurance Underwrit rine Insurance Compa	ters, Inc. T	t. Paul Mercury Ins ravelers Casualty a ravelers Casualty a nited States Fidelity	nd Surety Compan nd Surety Compan	y of America
1982 S	NCORPORATED STATES	THE STANCE OF SERVICE	PATE OR	W HARTFORD, O ON THE CONN.	MARTTORD S	AN THE SECOND SE
State of Connecticut City of Hartford ss.			Ву:	Robert L. Rane	y, Senior Vice Preside	nt
On this the 16th be the Senior Vice President of Fire and Marine Insurance Cor Casualty and Surety Company instrument for the purposes the	npany, St. Paul Guardian In of America, and United St	pany, Fidelity and Guara nsurance Company, St. F ates Fidelity and Guaran	Paul Mercury Insurance nty Company, and that h	, Fidelity and Guaran Company, Travelers e, as such, being aut	nty Insurance Under Casualty and Surety	writers, Inc., St. Paul Company, Travelers
In Witness Whereof, I hereum My Commission expires the 30	했다는 경기가 되자 그리를 통해 이 것이라고 하는데 사람이라면 하는데 하고 하는데 하다 나라다.	seal.	<u> </u>	Mar	ix C. J.	theoult ry Public

58440-8-12 Printed in U.S.A.